L’ Arrondissement (I)

612

921

617

9.317

5.459

86.977

19.034

91.344

Arrondissez chaque nombre ci-dessous a la centaine pres.

412 855
903 251
534 7.071
9.615 8.292
4.135 1.701
69.023 73.603
21.147 18.188
55.132 368.491

517

298

6.464

8.070

8.238

67.671

40.279

836.349

MathsLibres.com




L’ Arrondissement (I) Solutions

612
600

921
900

617
600

9.317
9.300

5.459
5.500

86.977
87.000

19.034
19.000

91.344
91.300

Arrondissez chaque nombre ci-dessous a la centaine pres.

412 855
400 900
903 251
900 300
534 7.071
500 7.100
9.615 8.292
9.600 8.300
4.135 1.701
4.100 1.700
69.023 73.603
69.000 73.600
21.147 18.188
21.100 18.200
55.132 368.491
55.100 368.500

517
500

298
300

6.464
6.500

8.070
8.100

8.238
8.200

67.671
67.700

40.279
40.300

836.349
836.300

MathsLibres.com




